

Kalapet, Pondicherry

Home

Mother Name: SUGIRTHA.S



Result Announced Date: 12/05/2023

Results

Father Name: AMALAN RAJ KUMAR.A

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0001

Name of the Student : ABEL CHRISTIYAN A

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 6.00 | 12.00 | В |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 4.00 | 12.00 | Р |
| 6 | APPLIED STATISTICS | Th. | 3 | 4.00 | 12.00 | Р |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 4.00 | 8.00 | Р |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0002 Name of the Student : ABINASH T

Father Name: T.THENNAZHAGAN Mother Name : T.RAMANA

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | P |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 7.00 | 21.00 | B+ |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 6.00 | 18.00 | В |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | A |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0003 Name of the Student : ADITHYA A

Father Name : ALAGAPPAN.G Mother Name : JAYANTHI.A

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | Α |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0004 Name of the Student : AKASH V

Father Name: VEERAMANIS **Mother Name: GAYATHRI**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 5.00 | 10.00 | С |
| 2 | COMPUTER NETWORKS | Th. | 3 | 000 | 000 | Fail |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 4.00 | 12.00 | Р |
| 6 | APPLIED STATISTICS | Th. | 3 | 4.00 | 12.00 | Р |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 000 | 000 | Fail |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations Reg. No.: 21CS0005

Name of the Student : AKASS K

Father Name: KALIDASS.A Mother Name : ILAMATHY.K

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 7.00 | 14.00 | B+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0006 Name of the Student : AMARNATH R

Father Name : RAVICHANDIRAN G Mother Name : LAKSHMI R

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 5.00 | 10.00 | С |
| 2 | COMPUTER NETWORKS | Th. | 3 | 000 | 000 | Fail |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 000 | 000 | Fail |



Kalapet, Pondicherry

Home

Mother Name : SELVAMANI

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0007

Name of the Student : AMBETHRAJAN I

Father Name: NAGARATHINAM@ILANGOVAN

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 4.00 | 12.00 | Р |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 7.00 | 14.00 | B+ |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0008 Name of the Student : ATCHAYA T

Father Name: THIRUMAGAN K Mother Name : SELVAKUMARI.T

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 4.00 | 8.00 | Р |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0009 Name of the Student : DEEPIKA B

Father Name: M.BALAMURUGAN Mother Name : B.SASIKALA

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 4.00 | 12.00 | Р |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 8.00 | 16.00 | Α |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 4.00 | 8.00 | Р |



Kalapet, Pondicherry

Home

Mother Name : AJIMUNISA M

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0010

Name of the Student : ERSATH AHAMADU M

Father Name : MOHAMED SHAJAHAN M

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 000 | 000 | Fail |
| 5 | OPERATING SYSTEMS | Th. | 3 | 000 | 000 | Fail |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 6.00 | 12.00 | В |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0012

Name of the Student : HABEEBUR RAHMAN H

Father Name: HALIKUL JAMAN.A Mother Name: MARLIYA BEGAM.H

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | o |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 7.00 | 21.00 | B+ |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | A |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0013 Name of the Student : HARINI K

Father Name: K.R.KUMARAN Mother Name : K.JAYANTHI

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | A |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0014

Name of the Student : JAFARULLAKHAN N

Father Name: NAZEER KHAN. J Mother Name: MEHABOO BEEVI. N

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 8.00 | 24.00 | A |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 6.00 | 18.00 | В |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0015 Name of the Student : JAYASHREE S

Father Name: A.SELVARAJ Mother Name: S.GOMATHI

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 6.00 | 12.00 | В |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | P |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 8.00 | 16.00 | A |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 7.00 | 14.00 | B+ |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0016 Name of the Student : JEEVA A

Father Name: M.AMIRTHAPILLAI **Mother Name: THILAGAVATHY**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 000 | 000 | Fail |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 7.00 | 14.00 | B+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0017 Name of the Student : KARTHIBAN.S

Father Name: G.SUNDARAMAGALINGAM Mother Name: S.AMUTHA

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | P |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 6.00 | 12.00 | В |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0018

Name of the Student : KAVIYARASAN K

Father Name: KAVIDOSS.T Mother Name: TAMIJARASSY.K

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 5.00 | 10.00 | С |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 000 | 000 | Fail |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0019 Name of the Student : LOKESH P

Father Name: PACKIRISAMY.S Mother Name: INDIRANI.P

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 8.00 | 24.00 | A |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0020

Name of the Student : MADHANKUMAR M

Father Name: MURUGANADHAM.G Mother Name : MEENACHI.M

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 8.00 | 16.00 | Α |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | Α |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0021 Name of the Student : MATHAVAN P

Father Name: PARASURAMAN. A Mother Name: RADHA. P

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | Α |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0022 Name of the Student : MERLIN J

Father Name: JOHN PIERRE S **Mother Name: ESTHER MARY J**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | 0 |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 7.00 | 21.00 | B+ |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 8.00 | 24.00 | Α |
| 6 | APPLIED STATISTICS | Th. | 3 | 8.00 | 24.00 | Α |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0023

Name of the Student : MOHAMED ASIF Z

Father Name: S.M. ZAINULABI DEEN **Mother Name: MOHIDEEN NISAMA**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 000 | 000 | Fail |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | Α |



Kalapet, Pondicherry



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0024

Name of the Student : MURUDESHWAR S

Mother Name: VARALAKSHM

Father Name : SIVAJOTHI M

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 8.00 | 24.00 | A |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 7.00 | 21.00 | B+ |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0025 Name of the Student : NALINA S

Father Name: SIVANANTHAM.S **Mother Name: LATHA.S**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 7.00 | 14.00 | B+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0027

Name of the Student : NETHISH KUMAR S

Father Name: SUBRAMANIAN **Mother Name: SUMITHRA**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | Α |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | A |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0028 Name of the Student : PARTHIPAN P

Father Name: PAKKIRISAMY.A Mother Name: RATHI PRABA.P

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 5.00 | 10.00 | С |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0029 Name of the Student : RAGAPRIYA T

Father Name: THIRUMURUGAN.G **Mother Name: RENUGA.T**

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | О |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 7.00 | 21.00 | B+ |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 8.00 | 24.00 | Α |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0030 Name of the Student : RAGUL R

Father Name: RANGARAJ **Mother Name: SHANTHI**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 6.00 | 12.00 | В |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 000 | 000 | Fail |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0031

Name of the Student : RAMANATHAN U

Father Name: R UTHIRAPATHY **Mother Name : REVATHI**

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 5.00 | 10.00 | С |
| 2 | COMPUTER NETWORKS | Th. | 3 | 4.00 | 12.00 | Р |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 000 | 000 | Fail |
| 5 | OPERATING SYSTEMS | Th. | 3 | 000 | 000 | Fail |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 000 | 000 | Fail |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0032

Name of the Student : RAMPRAKASH S

Father Name: S.SIVAPRAKASAM Mother Name : S.JAYANTHI

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 6.00 | 12.00 | В |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | Α |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0033 Name of the Student : RAMYA V

Father Name: R. VAITHYANATHAN Mother Name : V. MAHESWARI

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | o |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 7.00 | 21.00 | B+ |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 6.00 | 18.00 | В |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0034 Name of the Student : RAVANISH R

Father Name : RAMALINGAM P Mother Name : VANAJA R

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 7.00 | 21.00 | B+ |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 4.00 | 12.00 | Р |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

Mother Name : PADMAVATHI

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0035

Name of the Student : SAIHARINI M Father Name: MOHAN

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 4.00 | 12.00 | Р |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0036

Name of the Student : SAKTHIPRIYA S

Father Name : SENTHIL.S **Mother Name: JOTHI.S**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | 0 |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0037

Name of the Student : SARANKUMAR M

Father Name: K.MANIMARAN **Mother Name: M.MUTHUSELVI**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 4.00 | 12.00 | Р |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 7.00 | 14.00 | B+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0038 Name of the Student : SARATHI C

Father Name: CHANDIRAN.R Mother Name : KALAISELVI.C

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 5.00 | 10.00 | С |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 4.00 | 12.00 | Р |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 5.00 | 10.00 | С |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0039

Name of the Student : SATHISH KUMAR L

Father Name : LAKSHMANAN.S Mother Name: INDIRA.L

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 5.00 | 10.00 | С |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0040

Name of the Student : SHEMA THARANIE A

Father Name : ARUTCHELVAN. V Mother Name: DHANALAKSHMI.A

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | 0 |
| 2 | COMPUTER NETWORKS | Th. | 3 | 4.00 | 12.00 | Р |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 7.00 | 21.00 | B+ |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 10.00 | 20.00 | 0 |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0041

Name of the Student : SHYAM ABETH C

| Father Na | me : CHRISTOPHER AUGUSTIN . L | | Mother | Mother Name : SELVI ELIZABETH . C | | | | |
|-----------|--|----------|-----------------|-----------------------------------|-----------------|-------|--|--|
| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade | | |
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ | | |
| 2 | COMPUTER NETWORKS | Th. | 3 | 4.00 | 12.00 | Р | | |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р | | |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р | | |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С | | |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail | | |
| 7 | JAVA LAB | Th. | 2 | 000 | 000 | Fail | | |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | А | | |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0042 Name of the Student : SIBIRAJ C

Father Name: CHINNADURAI Mother Name: SARASWATHY

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|------------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A + |
| 2 | COMPUTER NETWORKS | Th. | 3 | 4.00 | 12.00 | P |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0043 Name of the Student : SIVABALAN M

Father Name: MATHIRAYASAN **Mother Name : TAMIL SELVE**

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 000 | 000 | Fail |
| 5 | OPERATING SYSTEMS | Th. | 3 | 000 | 000 | Fail |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | Α |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0044

Name of the Student : SIVAVADIVELAN C

Father Name: N.COUMARAVELOU **Mother Name: C.THILAGAVATHY**

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 8.00 | 16.00 | A |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0045 Name of the Student : SRIRAM V

Mother Name : _ Father Name: VEERASEGARAN

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 000 | 000 | Fail |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | Α |



Kalapet, Pondicherry

Home



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations Reg. No.: 21CS0046

Name of the Student : SRIRANJANI M

Father Name : MURUGESAN. P Mother Name: RAJATHI. M

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 4.00 | 12.00 | Р |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0047 Name of the Student : SUBIKSHA V

Father Name: VIJAYA KUMAR Mother Name : KALAIYA RASI

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | 0 |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 5.00 | 15.00 | С |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0048 Name of the Student : SURENDAR.R

Father Name: RAVICHDAREN.M Mother Name : SUMATHI.R

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | A |



Kalapet, Pondicherry



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0049

Name of the Student : SURIYAPRAKASH S

Mother Name: SORNAMBAL Father Name: SURESH.K

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 5.00 | 10.00 | С |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | A |
| | | | | | | |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0050 Name of the Student : SUVAKIN J

Father Name: JOHN ROBERT. P Mother Name : ANTHUVANETH.J

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 4.00 | 12.00 | Р |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 6.00 | 18.00 | В |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 6.00 | 18.00 | В |
| 7 | JAVA LAB | Th. | 2 | 8.00 | 16.00 | A |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0051 Name of the Student : SWETHA S

Father Name: P.SIVARAJ **Mother Name: S.SHANTHI**

| Sl. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 5.00 | 15.00 | С |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | A |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0052

Name of the Student : THAMIZSELVAM N

Father Name: NEHRU. R Mother Name: JAYALAKSHMI. N

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 8.00 | 16.00 | A |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 5.00 | 15.00 | С |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 000 | 000 | Fail |
| 5 | OPERATING SYSTEMS | Th. | 3 | 5.00 | 15.00 | С |
| 6 | APPLIED STATISTICS | Th. | 3 | 000 | 000 | Fail |
| 7 | JAVA LAB | Th. | 2 | 7.00 | 14.00 | B+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 8.00 | 16.00 | А |



Kalapet, Pondicherry



>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations Reg. No.: 21CS0053

Name of the Student : YAMINI J

Mother Name: J.DURGA DE

Father Name : C.JAYAKUMAR

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 2 | COMPUTER NETWORKS | Th. | 3 | 6.00 | 18.00 | В |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 4.00 | 12.00 | Р |
| 5 | OPERATING SYSTEMS | Th. | 3 | 6.00 | 18.00 | В |
| 6 | APPLIED STATISTICS | Th. | 3 | 4.00 | 12.00 | Р |
| 7 | JAVA LAB | Th. | 2 | 8.00 | 16.00 | A |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 9.00 | 18.00 | A+ |



Kalapet, Pondicherry

Home

>>> Result Announced Date: 12/05/2023

III Semester B.Sc. Computer Science JANUARY 2023 Examinations

Reg. No.: 21CS0054 Name of the Student : YAZHINI M

Father Name: MATHIYAZHGAN. K Mother Name: BANUMATHI. M

| SI. No. | Subject Name | Th Pr | Credit Hours | Grade Point | Credit Point | Grade |
|---------|--|----------|-----------------|----------------|-----------------|-------|
| 1 | OFFICE AUTOMATION LAB | Th. | 2 | 10.00 | 20.00 | o |
| 2 | COMPUTER NETWORKS | Th. | 3 | 7.00 | 21.00 | B+ |
| 3 | OBJECT ORIENTED PROGRAMMING USING JAVA | Th. | 3 | 6.00 | 18.00 | В |
| 4 | SOFTWARE ENGINEERING | Th. | 3 | 5.00 | 15.00 | С |
| 5 | OPERATING SYSTEMS | Th. | 3 | 7.00 | 21.00 | B+ |
| 6 | APPLIED STATISTICS | Th. | 3 | 6.00 | 18.00 | В |
| 7 | JAVA LAB | Th. | 2 | 9.00 | 18.00 | A+ |
| 8 | COMPUTER NETWORKS LAB | Th. | 2 | 10.00 | 20.00 | 0 |